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L.

o Candidates are required to give their answers in their
own words as far as practu:able
[Advaita Vedanta]

Answer ény two questions from Group—A
‘and one question from Group—B.

Group—A

1. {a) Discuss how does Sankara establish = that.
- Janmadisittram na anumino -panyasartham .
(b) Is the Sutra indicative of tatastha laksana or svarupa
laksana or of both. ) : 12+4
2. tasmat siddham Brahmanah $astrapramanakatvam .
’ Explain the above conclusion of Sankara following his

éo_rnmentary on the Brahamasfitra, ‘tatter samanvayat’.
16

(Turn Over)



3. The unconscious Pradhana cannot be the cause of the
world, since the tendency to create (praurttj cannot
logically arise in it.

Expound the above statement after Sapkara's

commentary on the Brahmasttra, pravrttesca.
' ' 16

4. Comment on the Brahmasttra, purusasmavaditi--

cettathapi after Sankara.
' 16

Group—B

5. Explain sadhanacatustaya .
8

6. How does Sankara prove in his second interpretations of

the Brahamasfitra, $astrayonitvét that the scriptures are

the valid means of the knowledge of Brahman ?
' 8

7. Anyatrabhavat na tmadivat -

Comment on the above Brahamasitra after S ankara -
. ) g

C/13/M.A./4* Seme./PHI-401 & 405 , (Continued)



[ Advanced -Legic]

Answer any two questions from Group—A
and one question from Group—B

‘Group—A

Answer any two questions.

1. Do you thini that PM system is weakly complete or
strongly complete or complete in both senses? Answer

after Hughes and Londey. - 8%2

2. (a) Explain the model notions of necessity, possibility,
contingency and impessibility. : 10

(b) Are these notions truth is functional in nature ? Give
reasons for your answer. 6

3. Prove any four of the following in PM : 4x4

pte

(0 (p:(q:r))b((poq)a_r):
W ((pva)vr)o(pvi@vr):
(1i1) (p‘sq):v(~pEfQ)=

@) (pvl@vr)=(pva)vr)
). pv~p. . ‘
4. Prove any four of the following in T system : 4x4
' (i)_(_lv)&q):)(MPDMq); |
(i) ~M(Pvq)=(~MP.~ Mq);
() LP>(q<P); ‘
iy LP>(Mgq> M(P- q)):

™ (p=4q)> (Lp = Lq).
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Group—B’

Answer any one question.

5. (a) What are the paradoxes of strict implication ?

(b) How are there paradoxes solved 4+4

6. Explain the relation between a formal system and an
oxiomatic system. 8

7. Prove any two of the following in PM from the base :
i) ~pvp:
@ (p>9)>(~a>~p);

(ii) . [pv(pvq)]:)(pvq). - 4+4
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